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B FEHERT X 1 49, 257, 565
EHET = 1 5,037, 704
HRHEI T = 1 1,022,700 |$@H!] 3, 000 m3
/Y A7 iy PR PEEME 5, 000m3ATH ;
BEARRE AT = 1 442,080 | BEIA (BLER) k1 1, 800 m3
4. 0mPL E
BRE LT = 1 1,283,160 |BSAREL 3, 400 m3
4. 0mPL E
Rkt A = 1 325,699 |{EMmEETE (& L) 270 m2
TR I S O M BRI M
T (B ) 280 m2
EmEAEEOA BUGHIRME
B5 &) —h =X 1 19,065 |3V av7)-h 5 m2
18-8-40 (F4F)  av))- MR EHH 4
P v T = 1 1,945,000 | LAbS5E 1 X
0 Cadl- EHIRY £5T) ;
MR B T = 1 2,334, 200
BAEXHESE T 2 1 2,334,200 | tHEUKE 1, 000 m3
W R ORMVE + B A 1m324 0 ff & 30kg/m3
AR (BrEvay)  (nmagkEte)
TEYWBEERE (k) & 1 )
EEEET = 1 7,272,039
EiAEFTH X T =X 1 2,795, 738 | &l T 1 =X
TAT 7V MEHEERR 15emPA T
EhAE AR AR 500 m2
TAT7VMEZERR AH2ERRIE 10c m ;
o 1 50 m3
TAT 7V
By 50 m3
TAI 7
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) 200 m2
FAHRIEET A2/ (20) AHIEE 50mm 1. 4mASH
(1824 v S 1 v JE50mmEd T)
) 300 m2
FAHRIEET 22 (20) &H%EE 50mm 3. Omid ;
3] 200 m2
FAEERLET AT, (20) SH%E)E 50mm 1. 4mA
(1824 v S 1 v JE50mmEd T)
%8 300 m2
PRI EET A2y (20) 4f2EE 50mm 3. Omtd ;
BN = T 2y 1 1,432,750 | BIHIA-N" 14 500 m2
TemPl T —f@ B3 0 O 8 AR A2y
(20) ;
s (& B A 25 m3
TAT 7V
By 25 m3
TAT 7V
Fn AT =, 1 153,600 | FJ@ (F3E - BIE ) 80 m2
PRI EET A2y (20) 4f2EE 50mm 3. Omtd ;
TAT 7 MRS L = 1 272,000 |~ vFv)° 2 t
FAEBRLET AT VMRS (13) 1R/ H
FEHMIR R S T 2 1 2,617,951 | BSHMRERE 16 m3
ARG B
24-12-25(20) (&JF) ;
BEERER & 16 m3
ARG B
24-12-25(20) (B¥F) ;
HEKHEEY T = 1 707, 445
e+ T 2 1 89, 245 |IR¥E Y 1 X
+4)
HEL 1 X
+4)
J O 1 =

-2 - E ta2@d Ui




il
W
St
%
I

TH4 | B 6 FEH KX RETH

TEHEX Sy - THE - R B {7 ¥ & & # A bl A iR
T wb AT 1 2V
0 Cadl- EHIRY £5T) ;
AR T = 1 452,300 | 7" VEyANUBMRIRE 10 m
300300 GEH)
7" Vv A NUBRMAITE: 20 m
300X300 (/K& M)
ik 40 e
300X 300 (ZKB&H)
AR v T 2 1 165,900 |BLGFT HAEKHE 2 (£
(FRR)
BUGFTHS 18-8-25 (Ei47) 500 X 500 X 500 (L
%) LEEEMIEL ;
£ 2 r5e
500X 500/ (I H T-25)
Bh AT L 2 1 16, 427, 342
PEANIBA AT L X 1 1,290,750 |H =N b-w 150 m
BN Gr-C—4F 100mLh = ARSI IEAE ;
Bf5 1k AL 2 1 3,236,963 | FE6E7 vy, B LA 51 &
— %I B ELRE ¢ 101.6X 3.2 L=600 AHENAvF
A0 - SR (ST B 1EAE) 100 m
— A AL Bm SCAERRR2m A7 ¢ 3.2
X 56mm FELEHAVF ;
/NENIR N IR 100 m
7" Ay )R AR B (— ) ¢ 3mm H=300mmA ;
HRVE (RAIHT) B 1AM 150 m
HhE 1.1m EAESA
B LA T 2 1 7,844,590 | K7 vy, B LA 230 &
— %I B ELRE $ 101.6X 3.2 L=600 HHENAvF
A0 - AL (ST ARG 1R 458 m
— A AL Bm SCAERRR2m A7 ¢ 3.2
X 56mm FEENAVF ;
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/NENIR N IR 458 m
7" 72Fy IRHIE S (— %) ¢ 3mm H=300mm/H ;
P4 5E 2 S
FrBH & (H=1. 5m W=1.0m) ;
HRYERA (AT 8 m
ML Im A" =27 V=M 3KFE ¢ 60. 5X3.2 £ =bn
AT $pA2.TX2.0 ;
B AR T X 1 3,823,488 | WIERAHEHT 18 m
ARG
24-12-25(20) &JF ;
25 1 =
W B S 21 m
A2fE A
24-12-25(20) @&JF ;
=5 1 =
2 FH B A L 2 1 231,551 | & FW=B5 1AM 12 m
M 1. 1m 7705 VR4 |
8% A 12 m
R UAL M12 160X 100 HEAR ;
BN 1S R L 2 1 614, 638
B B T X 1 614,638 | BRAMILE 73 m
VE £ 54mm ;
=P NN 4 m
#%E S50 ;
7TV I AR B 2 1l
24=F 500 X500X 250 BA7KM SUS t=3mm ;
X [E L = 1 210, 600
X IR T 2 1 210, 600 | F&mEhAK iR 600 m
RACTFE) F248 15em JE1. bmm HEK MG %S 4
H A B MR T = 1 611, 460
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BRT 2 1 323,010 |BE5kL 30 VN
120X120 X900 A& & FLpEE L ;
Bt 30 #
40X100X2 (Bft&) 30#LLE;
EATEY L 2 1 288, 450 | HiRAEAE 30 %N
¢ 100/ G LHFESA S0ARLLE ;
IR = 1 196, 530
fiA T 2 1 196,530 | A LiEZ 300 m2
$y M & BE50~100cm ;
MRE T 2 1 1, 181, 440
JERE PR T = 1 1,181,440 |FREL 2, 000 m2
FEMBREL (Vb A )
(233 4, 000 m2
HEbRE (B0
(233 2, 000 m2
AN BREE
R 8, 000 m2
THIA 8, 000 m2
BRIEALSY 8, 000 m2
s ALER T = 1 13,101, 300
S BSLERVEZE T =X 1 13,101,300 |95%5%E 1 =
Hehl 1 X
Mk 1 X
HEE L = 1 334, 980
e LT it 1 253,270 | v7)-MHEXE YU L 10 m3
MRS BhkE T
/) ) -MEEEBUE L 10 m3
BRIy B T ;
TR AL T = 1 81,710 |BoEM 10 m3
2y = bk (HERT)
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o 1 10 m3
/) -hik B
By 10 m3
/)Y - hik (AT
By 10 m3
290 -hik BRh)
% T = 1 1,227, 887
T8 - B L 2 1 60,923 | T®9H 1 =
A T RV
o5 1 2V
(KA
BUE - B
T8 - s B L 2 1 66,919 | T» 95 1 =
(KA
i G
FEHA O-27) 1 X
+1 850, 000m3AT ;
T wb AT 1 2V
0 Cadl- EHIRY £5T) ;
K T = 1 351,045 |{REEKIE 1 =
18-8-25(20) |iF W/CHE L ;
KRR 1 X
EEER VIV ¢ 300 4777 v
B EHT = 1 749,000 | ZiEAFEEE E E 1 =
RN X =X 1 49, 257, 565
HiE X 1 4,655, 800
Im iR Ex % = 1 759, 800
TERE X 1 142,000 | G istsaE i 2 1 =
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THEXSy - THE - FE5 H7 & & # i EiN

Hei e ey 20 1 58,800 |3 Fs iRk AT I 1ERE A 1 =
BUGBREIUEL (REH L) 2V 1 559, 000
sty (R L) 2V 1 3, 896, 000
ol T 2V 1 53,913, 365
e R E20 1 20, 174, 000
T AT 2V 1 74, 087, 365
— e PR E20 1 13, 172, 635
N E20 1 87, 260, 000
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